Shape & Space The Tangent Ratio topic notes

The Tangent Ratio

tan 8= opposite
adjacent
! hypotenuse
oizpnsl‘r;:: (hyp.)
opps.
PP adjacent = opposite
tan 8
g \, oppesite = adjacent x fan §
ad jacent
(adj.)

Method for problems:

= write out the ratio putting in the values for the given sides and/or angle.
= puta 'l under the sine/cos/tan

= cross multiply(top left by bottom right = top right by bottom left)
= make the 'unknown' the subject of the equation

Example #1

43
12.6 cm.

tan 3 X
1 126
x=126tan 43
=12.6x0.9325
=11.74%5
=11.75cm (2 dp)




Shape & Space The Tangent Ratio

Example #2
18.8 cm.
Zr
X
tan 27" _ 18.8
1 x
xtan 27 =18.8
_ 1838
tan 27
_ 188
05095
=36 59589
x=32690cm (2dp)
Example #3

16.1 cm

13.2 cm

tan & _16.1

1 132
=1.2197

8 = 50.6525
=50.65 (2 dp.)
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